
dy

dx
+ xpy = xq yα : α 6= 0:1

xz = xy1− α
�

dz

dx
+ (1− α) xp xz = (1− α) xq lin

dz

dx
= (1− α) y−α

dy

dx
= (1− α) y−α (xqyα− xpy) = (1− α) (xq − xpz)

{
−
y + y = y2

y (0) = 4
� y = 1 + Cex

X Z−1

y (0) = 4
� C = −3/4

{
−
y +

y

x
= xy2

y (1) = 1/2
� y = 3x− x2

X Z−1

α = 2: z =
1

y
� −z −

z

x
= −x � z = x

∫
dx

−x

x
= −x2 + Cx

z (1) = 2
� C = 3

x2dy +
(
y2− xy

)
dx = 0 �

−
y − y

x
= −y2

x2
� z =

1

y
� −z +

z

x
=

1

x2

{
3
−
y + y = 1− 2x

Y [
y4

y (0) = 1/2
� y = (9ex− 2x− 1)

−1/3

−
y +

y

3
=

1− 2x

3
y4
� z =

1

y3
� −z − z = 2x− 1 � z = ex

∫
dx

2x− 1

ex
= −2x− 1 + C ex

z (0) = 8
� C = 9



{
−
y − y2e2x = −y

y (0) = 0

{
xy
−
y − y2 = x

y (1) = 1


